Flying and Judging FJA

SCHEMATIC MANOEUVRE ILLUSTRATIONS

SCHEDULE P-13
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Security line



full roll

P-13.01.01



P-13.01.02




Roll on middle of the line.

All radii are equal.

P-13.01.03




All radii are equal. Y4 10 — Y roll
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P-13.02.01




Y, roll on middle of the line.  %roll

P-13.02.02




Y4 roll on middle of the line. 1/4-roll 3




P-13.03: Roll Combination with consecutive three Y4 rolls,
three ¥ rolls in opposite direction

The ¥4 rolls must have the same roll rate.
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Lines between part rolls must be short and of equal length.

Between part rolls in opposite direction there must be no line.

P-13.03.01




P-13.04. Half square loop with consecutive two %2 rolls in
opposite direction

Y roll
Y roll

P-13.04.01




P-13.04. Half square loop with consecutive two %2 rolls in
opposite direction

Half rolls on middle of
the line.

The half rolls must have the same
roll rate.

No line between the half rolls.

All radii are equal.

P-13.04.02




P-13.05: Triangle with roll in each line
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roll

roll

P-13.05.01




roll rol]

Rolls on middle of the
lines.

Al radii are equal. (A )

P-13.05.02




Half loop immediately after the roll.
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P-13.07.01




P-13.07: 45° Upline with 1 % snap roll

If snap roll = barrel roll or
aileron roll:
Severe downgrade > 5 pts.
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_ All radii are equal.
Snap roll on middle of k
the line. 45° ",

P-13.07.02




P-13.08: Reverse Top Hat with ¥4 roll down, % roll up

III:IIIIIIIIIII

Y4 roll

% roll

P-13.08.01




P-13.08: Reverse Top Hat with ¥4 roll down, % roll up
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Rolls on middle of the lines.

D 3, roll Horizontal cross box must be
inverted.

Al radii are equal.

P-13.08.02




P-13.09.01




~——~ ¢, P-13.09: Spin with 2% turns, 2% turns in opposite direction

Snap entry - zero points!

= =p :

L] Spiral dive - 0 points!
Spin reversal must be immediate. b

Forced entry: downgrade.

P-13.09.02




P-13.10: Pull-Push-Pull Humpty Bump with % roll up,
Yaroll down (Option : Consecutive two Y rolls up)

Y4 roll
Y4 roll

P-13.10.01




P-13.10: Pull-Push-Pull Humpty Bump with % roll up,
Yaroll down (Option : Consecutive two Y rolls up)
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Yarolls on middle of the lines.

Ya rol
Y4 roll

Al radii are equal. @3_* |

P-13.10.02



P-13.10: Pull-Push-Pull Humpty Bump with % roll up,
Yaroll down (Option : Consecutive two Y4 rolls up)

Option

two Yarolls

P-13.10.03




P-13.10: Pull-Push-Pull Humpty Bump with % roll up,
Yaroll down (Option : Consecutive two Y4 rolls up)

Option |

two Yarolls
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P-13.10.04




— -l P-13.11: Cuban 8 with integrated rolls on top 90° of

both part loops

full roll full roll
integrated integrated

P-13.11.01




—— P-13.11: Cuban 8 with integrated rolls on top 90° of
: both part loops

The rolls must be fully
integrated on the

circular flight path of %& /_[\

the loops.

Roll rate constant. T S0 N
‘ i N, v All radii are equal.

P-13.11.02







P-11.13: Square Loop with Y2 roll on each line

Y roll (4)
N, VS S
i /
Y% roll (3) x ~—> 1% roll (1)
[
Y5 roll (2)

P-13.13.01
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¥ rolls on middle of the lines.

Y% roll (3)

All roll rates are equal.

P-11.13: Square Loop with Y2 roll on each line

Y% roll (4)

C{U o =t >

9 Y% roll (1)

% All radii are equal.
_ /o
L \J

Y% roll (2)

P-13.13.02



two Y2 rolls
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P-13.14.01




two %2 rolls (I::

All radii are equal.

P-13.14.02




P-13.15: Roll combination with consecutive Y2 roll, roll, %2
roll in opposite direction

Y roll Y2 roll

Full roll

P-13.15.01




P-13.15: Roll combination with consecutive %z roll, roll, %2
roll in opposite direction

Y roll Y2 roll

full roll

Part rolls must have the same roll rate.

No lines between the rolls.

P-13.15.02




: Y2 Loop on Corner with ¥ roll ¥ knife edge loop,
Yaroll

Y4 roll

MEEEEEEEEEERR

i Ya roll
P 450 ., =
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P-13.16.01




P-13.16: %2 Loop on Corner with ¥ roll ¥ knife edge loop,
Yaroll
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Y4 roll ol

z

1/, rolls on middle of the lines.

All radii are equal.

Y4 roll @

P-13.16.02




P-13.17: Figur Z with consecutive four /g rolls

P-13.17.01




Lines between part rolls
must be short and of equal
length.

All radii are equal.
O =3} —>

P-13.17.02
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Security line



Bob Skinner

eter ig, October 2011



